BT B TS

T Ak IMMUehl TE UIGTUT YRAhT WIe i T hel WIT adl deh 1 @iet

TIASTOT YRR

A 37eTqTq
(SFet TS, Sier udta)
faieR- 12-01-2025

| °r ue qutieh: 200

3

. TN YR TF & A 91E, AT TH THUT YREent il Ugared 3avd T o feh 3EW whig faw

BUT, WeT A1 TeT T TS AT Y9 3¢ 7 el afg AT & af TH W&l UIeiuT YRasht ¥ agat
st

IT-UT H TET T U UGI0T YRaent 3TRT A, B, C 91 D Iiiafa We &0 § Heag wifvd|

3. 39 Ui % g H &3 T wisew TRl ST ST wHiH e 1 e g R oiR v 7 faw

70 Ther i § 100 gee (WeE) A MU B weie geie fRH ofw ofleh S wiwiedl o forn
B Yesh Y § WR Yo (SW) & e #) s
Y Uk YRR &l 9F o, T8 319 Sw-wsh W Afehd
T R Bl AR TR UE ol foh w9 atfueh
Yo Tl ® i SH YT 1 3ifehd Y Sl SAUh! HellaH ol Yodsh YA % ford el Teh € Yo
T 2

5. oMUkl 1o T FegRR STer W & T SwR-wseh W Afehd e €1 sw-wes § A e iy @
6. |l gel & 3 THE 2
7. 399 WRd foh o9 wdeo giae & fafa= ueaien & YW SW-TFh W AfRd HET YE B, IR

9.
10.

(1)

(i)

(ii1)

WAl YHIU-U & G U STl % SHR e foervl Wk § 3 2

39 o e T Sl SW-UFER H I H 9% a1 T & AN W had SW-UAE STEeTh hl
iy | IRl YO T TAe0 YRl o S kT STEf 7

Fed M % Tl S T Te Yk & 3fd | Ferd 2

Tord S & ford de:

TS ge-TEl H SHfigar gRT fqd T e I & fera 2 fqan smom

TEE T % ¥ TR dsfeush I T SHIRER 3N T WA & o K T U e sw & fo
a1 7 fraa foa U oil @1 uek-TaeTs < % w9 | e s

g g IHHIGER Tk W Afesh I a1 €, A W Teld SR HHl ST, =R 5 T s # ° T IW
el §, 39y & o SudeER € <€ fean smom

Ife SEEER gRI IS T9 el el fohal w1 @ SAfd SEiCaR g1 ST Tl fean S ¥, df 59 wed &
for@ = < @l e s

T ek ATIhT g UHET0T YRkt @ie ol T el ST adl dek 7 @it




1. fr=afafe soAi | fomr St

-1

T & 3 Gfa9M & $TIe8s-142 & qed fohdl

SR/ A e e S I W

% e & fen-fdw 3 €

hgT-11:

FASSN =@ & dgd wHl-wH 3faa HA

yiepenetl 1 wer fRd fo eyt st wufa

1 e Y A S 2

w111

Gfaum™ 1 ST=83-142 W I i fordt off

e H ol = & fR stevass s 9 fesht

TRd T H AR 2 2

Sw weAl % ey o, fefated § @ -

& 772

(a) HEA-II 3R HeF-II 1 F&l € qe <,
FHUA-1 F1 A W 2

(b) -1 3R HeA-111 <A et €, feopg =
Y HId T, FoHE-1 F1 A F@ B

(c) FHUA-II 3R HUA-111 § 4 Hoel Th Tel
2 3R 98 HUA-1 H =@ F@ B

(d) 7 @ HHA-I1, 7 & HeE-111 et 2

. fr=afafed oAl W foer wifs3:

hg-1:

dfgum & =83-263 & ded adisHg ufug

I LA HT TE B

HUA-11:

SfaRisea i T4t den % & e fed & fawai

W feram-femst =t 2

Sue wuAl & ey o, frefafed § @ sE-

Td 7?2

(a) -1 3R HeF-11 A1 Tt & qen weE-11,
FHUA-1 HI A Il 2

(b) FUA-1 R FUA-1I A T §, fohq
FHUA-11, HeF-1 H1 A T& Ll 2l

(c) ®eF-1 WE €, Torq HeA-11 W&t & 2

(d) ®oA-1 Tt & 2, fohg wur-11 9t 2l

. IR YR Heww foren sifufrem, 2004 & weed

¥ frafafed wal ) fo=am Fifse-

|. S=aqH e A 39 AR gauied
e & R

2. TEH ITT W WY T F Tz faren
=1 fafraftd 6@ & 9 =i a9 2|

1. Consider the following statements:

Statement-1:

The Supreme Court has provided guidelines under
Article 142 of the Constitution for compliance with
due process in demolishing the property of an
accused/convict.

Statement-11:

Under bulldozer justice, sometimes the property of
an accused/convict is demolished without following
proper legal procedures.

Statement-I11:

Article 142 of the Constitution grants the Supreme
Court the authority to pass any order or decree
necessary for complete justice in any case.
Which of the following is correct in respect of the
above statements?
(a) Both Statement-II and Statement-III are
correct and both of them explain Statement-I.
(b) Both Statement-II and Statement-III are
correct, but only one of them explains
Statement-1I.
(c) Only one of the Statement-II and Statement-
II1 is correct and that explains Statement-1.
(d) Neither Statement-II nor Statement-III is
correct.

. Consider the following statements:

Statement-I:

The Inter-State Council was established under
Article 263 of the Constitution.

Statement-11:

The Inter-State Council discusses matters of
common interest between the States and the Centre.
Which of the following is correct in respect of the
above statements?

(a) Both Statement-I and Statement-II are correct,
and Statement-II explains Statement-I.

(b) Both Statement-I and Statement-II are
correct, but Statement-II does not explain
Statement-1.

(c) Statement-I is correct, but Statement-II is not
correct.

(d) Statement-I is not correct, but Statement-II
is correct.

3. With reference to the ‘Uttar Pradesh Madrasa

Education Act, 2004,” consider the following

statements:

1. The Supreme Court has granted it partial
constitutional validity.

2. Its objective is to regulate and formalize
madrasa education in the state of Uttar
Pradesh.
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SUgF wUAl W W BA-E/H HU e B2

(a) ®ad 1

(b) e 2

(c) 1 3R 2 i

(d Ad 1,72
. Fr=afafea ® foar sitsE-

1. vem Hfgum gened sifafTad, 1951

2. 2591 Hfaym deneA stfufEm, 1971

3. 3197 Hfaym g stfufad, 1973

4. 424 dfgum denem efafm, 1976
STE ¥ § fhad wfaum w@eiem sifufem wufa
% affuer ¥ Fafua 872

(a) ot ThH

(b) Haa &

(c) aa o=

(d) It =t

5. 'wieet’ & Eed o faefafed wedl W e

HifSTa-

1. iais Wi STeqshiierh T8d T Sigd 8 2l

2. 9RdE e S 9w’ o CFges
T TR T AENE FeAvRR Sl
% w9 i femar 21

ST Forl § § BE-F/Y FUA T 22?2

(a) ®ad 1 (b) o 2

(c) 1 3R 2 T (d Fd1, 782

6. ' R Tel STHfehT qe2Ufd hi AW’ & Feef
¥ freafafed wul ) foeam Fifse-

1. YR Tegufa AEMREE &t 9o W &
A1 © Safeh SHTeh! TZufd & uE s
®Y G RGN AR AR HIH H TFwd
Bt R

2. YRAME qe SRR Tl I Yoael A
yoet & wiemH 9 feifaa g €

3. ORAF e STHfERT Tsgufd I 1 SHEHT
o oY 1 B e

4. RAF q AUt Al <A W Gfaem
F1 IeaEH HH, T, Reaaardt =1 s
TR STY/EUER & o weife e

Which of the above statements is/are correct?
(a) 1only
(b) 2 only
(c) Both1and2
(d) Neither 1 nor 2

4. Consider the following :

1. First Constitutional Amendment Act, 1951
2. Twenty-Fifth Constitutional Amendment

Act, 1971

3. Thirty-First Constitutional Amendment Act,
1973

4. Forty-Second Constitutional Amendment
Act, 1976

How many of the above constitutional amendment
acts are related to the right to property?

(a) Only one

(b) Only two

(c) Only three

(d) All four

. With reference to ‘freebies,’ consider the following

statements:

1. Freebies are often focused on short-term
relief.

2. The Reserve Bank of India has defined
freebies as ‘public welfare measures
provided free of cost.’

Which of the above statements is/are correct?

(a) 1only

(b) 2 only
(c) Both1and2
(d) Neither 1 nor 2

. With reference to the ‘working of the Indian and

American Presidents,” consider the following
statements:

1. The Indian President works on the advice
of the Council of Ministers, while the
American President has autonomy to issue
executive orders independently.

2. Both the Indian and American Presidents are
elected through a direct election process.

3. Both the Indian and American Presidents
have a tenure of five years.

4. Both the Indian and American Presidents can
be impeached for violating the Constitution,
treason, bribery or other serious crimes/

S Hehel B - conduct
IF For ¥ ¥ FA-AA FoR w22 e
FHerl : Which of the above statements is/are correct?

(a) Had 1 (b) Haa 1 iR 4 (2) 1only (b) 1and4 only

(c) 1,3 3R 4 (d 1,2,3 R4 (¢) 1,3and4only (d) 1,2, 3and4
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7. Trafafea o 9 fod stefemen &1 ‘= ®@’ 9

IR,
(a) YRR (b) HieeT
(c) W (d) wies

8. Fafafed w faem #ifsa-
1. 9-UsHifqe e i w9 S
2. 3T WYY
3. W ot sl &t wmeH
S # ¥ fohdd 9Rd gW @Ol YT &

FHRO &7
(a) HIA TH (b) Faa I
(c) |f = (d) = Tl

9. ‘Urpfae T’ & Tl H feAfafed weMl W
foam wifsa-

1. I8 IR T TREl gene W a3t 2

2. FREE T R, T ST F #w H

®Y HHA S R
ITE wuAl ¥ W HHA-E/A wU W 287
(a) o 1 (b) Had 2
(c) 1 3R 2 T (d FT@1, 82

10. ‘ STEnfies eeshieet’ & wed o frefafea o 9
HH-E HUT T TR 82
(a) I8 HAd: S Achlzd 2l
(b) SEHI IHEM SfEifR foemee ® w9 H
fopa S 21
39T ¥ S, TR, et enfe @t
%! T 9@ = =i sfewed § oga
S 21
Hefi—ehefl TR SYAN ST INE, TE 3N
Taed el g & frmfor o ot feen
S B
11. ¥ 2024 ¥ fr=fafed § 9 #&f G-20 oied
199 G-20 frer ¥weH & foa i@ gu?
(a) U, i
(b) T St safEn, s
(c) o, geie
(d) AT, 4TET,
12. ‘o’ (BRICS) & el o fefetfoa & © -1
Tk wE e @2
(a) 169 foog RTER geH #1 3+ €9 &
FoE I H TR T

(©)

(d)

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

(Magazine Test)

7. Which of the following is considered the ‘new fuel’

of the economy?
(a) Semiconductor

(c) Mica

(b) Solder
(d) Plastic
8. Consider the following:
1. Reducing geopolitical risks
2. Economic sovereignty
3. Supporting domestic financial markets
How many of the above are reasons for India’s
gold reversion?
(b) Only two
(d)

9. With reference to ‘natural farming,” consider the

(a) Only one
(c) All three None
following statements:

1. It emphasizes traditional and indigenous

practices.
2. Internationally, it is considered a form of
regenerative agriculture.
Which of the above statements is/are correct?
(b) 2only
(d)
10. With reference to ‘industrial alcohol,” which of the

(a) 1only
(c) Both 1 and?2 Neither 1 nor 2

following statements is NOT correct?
(a)
(b)
(c)

It is essentially pure alcohol.
It is used as an industrial solvent.
Industrial alcohol is formed by mixing
ethanol with chemicals like benzene,
pyridine, and gasoline.
(d) Sometimes, it is also used to make illicit
liquor, cheap and hazardous intoxicants.
11. Where did the G-20 leaders gather for the 19th
G-20 Summit in 20247
(a)
(b)
(c) London, England
(d) New York, USA
12. With reference to ‘BRICS,’ which of the following

is a correct description?

(a) The 16th BRICS Summit was held in Kazan,

Paris, France

Rio de Janeiro, Brazil

Russia.
e HeT-45 F 45-A W 47/CC, afetmes 12, B9 TSR, T,
2ER-2, WA ek Ag, | IMehe wiw, faemrasm ofa¥ i
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(b) ¥Eem fos (BRIC) forer ¥ = 2010
T &0 & IhAa § efEfsa fwar w=n
o
a9 2011 ¥ gfeqor ST fok (BRIC) 998
o wnfier 81 T iR 29 foe (BRICS) &
I\ g ST
a9 2015 | Wil § emEfed B3 foa
fer e & NE ‘7 Saeie S
Y T Y TS|
13. ‘RG-S & Tem Wi & Hed o frefated
T R fo=r Fifsa-
1. YRG-SHAT & Hed P-751 TAgsst 1 |ga
forerre weaTfed 21
2. MRA-SEA % HEF Sh-1.5 Farg e
IERIESICI
3. 9RA qUm SHAT 7 Uty WHen H
qREafe A W8l 6 (MLAT) W
TEEr o )
ITdH wuAl § W BHA-E/Y wU W 287
(a) Fad | A2 (b) whead 2 3R 3
(c) ®ael 1 3IR3  (d) 1,2 33
14. frefafad ) faar Hifsa-
1. =
2. snefern

=

3. S9H
4. JUHT,
ST | O fohaw 391 &g oA oTfefe TRt
(RCEP) ® wmfher €72
(a) Had TH (b) wad |
(c) Had o= (d) |t =i
15. ‘=raek UE faeitl 2ie-Sfafthe riert g9Eia’
(CPTPP) & wed # frefafed weami W fo=r
IS -
1. CPTPP W aMfysier €9 ¥ a9 2018 H
Hfeamm, foet & w&mer fmd ™
2. CPTPP a&qaii Td Hareil W 999% SR i
U LT B
3. CPTPP ¥ wnfidd €9 oren 12a1 T<&T 39
e B
ST Forl § § BE-F/Y FUA T 22?2
(a) e 1 3R 2
(b) e 2 3R 3
(c) ®ad 1 3R 3
(d 1,2 33

(c)

(d)

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

(Magazine Test)

(b) The first BRIC Summit was held in 2010 in
Yekaterinburg, Russia.

In 2011, South Africa joined the BRIC
group, and it became as BRICS.

During the 6th BRICS Summit held in
Fortaleza in 2015, the “New Development
Bank’ was established.

(c)

(d)

13. With reference to ‘India-Germany relations,’

consider the following statements:

1. Joint development of P-751 submarines is

proposed between India and Germany.
2. India-Germany hold Track-1.5 dialogues.
3. India and Germany have signed a Mutual
Legal Assistance Treaty (MLAT) in criminal
matters.
Which of the above statements is/are correct?

(a) 1and?2only (b) 2and 3 only

(¢) 1and3 only (d 1,2and3
14. Consider the following countries:
1. China 2. Australia
3. Japan 4. USA

How many of the above mentioned countries are
included in the Regional Comprehensive Economic
Partnership (RCEP)?

(b) Only two

(d) All four

(a) Only one
(c) Only three
15. With reference to the ‘Comprehensive and
Progressive Agreement for Trans-Pacific
Partnership’ (CPTPP), consider the following
statements:
1. The CPTPP was officially signed in 2018 in
Santiago, Chile.
2. The CPTPP eliminates 99% of tariffs on
goods and services.
3. New Zealand became the 12th member of
the CPTPP.
Which of the above statements is/are correct?
(a) 1and?2 only
(b) 2 and 3 only
(¢) 1and3 only

(d 1,2and3
e HeT-45 F 45-A W 47/CC, afetmes 12, B9 TSR, T,
2ER-2, WA ek Ag, | IMehe wiw, faemrasm ofa¥ i
THET A, S o, e e, e waw

Phone: 8750187501 :: www.drishtilAS.com

Copyright — Drishti The Vision Foundation



16.

17.

18.

‘ifaar W@’ (CARICOM) & Hgd ®
frefafed § SF-91 wer w& T 22
(a) @& 21 39 1 THE B
(b) M THH HEAUF T e W wnfea
@I 2l
(c) TH® TIET W IW W TR U et e
¥ giFm 9o TEE 9% Bl gY R
(d) 9% THSE ST, WRdME, JUUE, =,
ATt SR TRelt gy &% wnl | 5 2
frefafas w® foer Fifsa-
1. TEgETeEe Rty
2. feereH
3. e T
TR § @ R e § i 82
(a) oA TH
(b) Faa I
(c) [t =
(d) =g &
frfafea weAl W fo=m wifs:
RYA-1:
9RA 1 Ul WA 9 A T e 56
% g § fe S @ R
w11
IE AT YR WG Qe 9IS’ % STE o
feafeal @ eam *fga & 2
w111
e e T8 o W R 9 ae wiee
e €, S Safer % Her adeR ¥ fierd-se
2 2
ST sl & "o o, Frefeted § 9 swH-a1
T 22
(a) HUA-1 3R HeE-111 T4 Tt & aen g,
HUA-1 ! M HW B
(b) -1 3R HeF-111 T4 Tl &, fopg =
Y Hael Th, FHOF-1 I A FW 2
(c) HTA-II 3R HeF-11 § | hod ThH Tl
? 3R 98 HeF-1 H A B B
(d) 7 @ HeE-11, T & HeH-111 Tl 2

16.

17.

18.

With reference to the ‘Caribbean Community’
(CARICOM), which of the following statements
is NOT correct?

(a) Itisagroup of 21 countries.

(b) Suriname was one of its founding member

countries.

(c) Its member countries extend from the
Bahamas in the north to Suriname and

Guyana in the south.

(d) This community comprises people of
African, Indian, European, Chinese,
Portuguese and indigenous backgrounds.

Consider the following:

1. Hydroxyapatite nanohybrids

2. Chitosan

3. Carbon nanotubes
How many of the above are included in
nanomaterials?

(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following statements:

Statement-I:

India’s first Mars and Moon analogue mission is
being conducted under ISRO’s leadership.
Statement-I1:

This analogue mission focuses on conditions for
habitation on Mars and the Moon.

Statement-I11:

Analogue missions are field tests conducted in
locations resembling the harsh environments of
space.
Which of the following is correct in respect of the
above statements?
(a) Both Statement-II and Statement-III are
correct and both of them explain Statement-1.
(b) Both Statement-II and Statement-III are
correct, but only one of them explains
Statement-1.
(c) Only one of the Statement-II and Statement-
II1 is correct and that explains Statement-I.
(d) Neither Statement-II nor Statement-III is

correct.
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19. Frafafea wol | fo=r SifE-
. YRdE TR AaRkel daa T e
%% (IN-SPACe) o1 HeAe™ STs | 2l
2. 9 w9 gfewn fafiees (NSIL) &1 q&ed

STEAIER H 2
S Ul W W BH-G/A HU W B2
(a) o 1 (b) et 2

(c) 1 &R 2 3 (d Fd1, 782
20. Frefafed g= w four =ifsE-

Wemge | smgfw | eEyEm
TERH dT
1. | Ta-de 1-2 | GPS @en
eS| HiaEa T
arsti & o
2. | Hi-ds 4-8 | SwUE et
eS| wERoT @R 2
TR & fe
3. | e 8-12 |TER @R HuR
e | % o d=
Sy |
SUge gEr § 9 ferat ufsrEl @t gafem 22
(a) Haa TH (b) waA |
(c) |t = (d) = =&

21. ‘51 € a9 S’ v & §ey § fefafea swemt
R faar =ifsa-
1. 39 Yl I B S Graifieht faum qen
e ARt e e FarER gRug g
w1 T T
2. TE YA 1 GHE S Wi e
T TaeR ufeg SR T S fafwan
ST e g foRan S
T T W Y FA-A o T
(a) Had 1 (b) Had 2
(c) 1 3R 2 T (d Fd1, 782
22. FrAfafeaa oAl | faar wifsa:
HIA-T:
g | fove w1 God St 9gEE oM 2l
hA-11:
qRd Yo T W 49 & WY 1 GOl G920
IAEH 39 2
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19.

20.

21.

22.

Consider the following statements:

1. The Indian National Space Promotion
and Authorization Center (IN-SPACe) is
headquartered in Bengaluru.

2. New Space India Limited (NSIL) is
headquartered in Ahmedabad.

Which of the above statements is/are correct?
(a) 1only (b) 2only
(c) Both1and2 (d) Neither 1 nor 2

Consider the following information:

Satellite Frequency | Applications

Frequency
Band

1. | L-band 1-2GHz | GPS and mobile
satellite services

9. | C-band 4-8 GHz Satellite TV
broadcasting
and data
communication

3. | X-band 8-12 GHz | Radar and
military
communication

applications

In how many of the above rows is the given
information correctly matched?

(a) Only one (b) Only two

(c) All three (d) None
Consider the following statements about the ‘One
Day One Genome’ initiative:

1. This initiative was launched by the
Department of Biotechnology and the
Biotechnology Research and Innovation
Council.

2. This initiative will be coordinated by the
Biotechnology Research and Innovation
Council and the National Institute of
Biomedical Genomics.

Which of the above statements is/are correct?

(a) 1only (b) 2only

(c) Both 1 and?2 (d) Neither 1 nor 2
Consider the following statements:
Statement-I:
India has the largest livestock population in the
world.
Statement-II:

India is the largest producer of buffalo meat
globally.
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23.

24.

25.

(Magazine Test)

SudE weAl & Hew H, Frefeted § 9 siA-a
T 72
(a) HUA-1 3R HeA-11 A Tl € qen w11,
FHUA-1 I A H B
(b) FUA-1 3R FHUA-11 A " ©, fopg
FHUA-11, FHeA-1 FT A T& Fl 2
(c) weHA-1 Wl &, foq wem-11 Tl & 2
(d) HUA-1 & 7 B, foRq -1 TEl 2
‘Serarg, aiEdd W EgE T HhHas HhovH
(UNFCCC) & COP-29 &% ded o fr=fafed
Ul R fouR Fifa-
1. a9 2024 § COP-29 &1 e+ @,
A owa | e mam
2. COP-29 & d&d fawmeial e & o
Sereyg fod sl a1 wrfeesh qiATford oiad
(NCQZ) & 2035 T Wfqad 300 fafer
et Ser 2
3. 9Rd |fed 30 W ik 29 + Sk e
q W ®H HH W COP-29 SO H
YA TR
4. 9RA 7 COP-29 & d&d foehraeiial <9 &
ford Soamy foa % U A mfes wfoafom
@I (NCQZ) a9 2035 % Tfaad 300
faferm sften) <l 1 THef foran 2
ST HeAl § U HA-G/E HAA e 22?2

(a) o 1 (b) Had 2

(c) e 3 @ 1,2,3 34
frfafea = foar Hifsa-

. &F 2. G

3. JUET, 4. et

ST | 9 fope 391 Sioarg & ford o TeseA
(MAC) ® wrifiret €72
(a) A TH (b) e T
(c) aad o (d) It =rf
‘Teted TeHifeRIR A’ ((GAW) & H]d H
frafafea wol | foer wifE-
1. @& 100 I3 1 Teh TEANHE HEAHA T
2. THHI 3539 IgHEA, HEMHRR iR Savee
% ofte ofd: franeti w1 wwe i 9@ B
SUgF wUAl W W BA-E/H HU e B2
(a) Had 1 (b) Had 2
(©) 1 3R 2 g (d Fd@1, 782

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

Which of the following is correct in respect of the
above statements?

(a) Both Statement-I and Statement-II
are correct, and Statement-II explains
Statement-I.

(b) Both Statement-I and Statement-II are
correct, but Statement-II does not explain
Statement-I.

(c) Statement-I is correct, but Statement-II is
not correct.

(d) Statement-I is not correct, but Statement-I1
is correct.

23. Consider the following statements regarding COP-
29 of the ‘United Nations Framework Convention
on Climate Change’ (UNFCCC):

1. COP-29 was held in Riyadh, Saudi Arabia,
in 2024.

2. Under COP-29, the new collective quantified
target (NCQZ) for climate finance for
developing countries is set at USD 300
billion annually by 2035.

3. Over 30 countries, including India,
supported the COP-29 declaration on
reducing methane emissions from organic
waste.

4. India has supported the new collective
quantified target (NCQZ) of climate finance
for developing countries of USD 300 billion
per year till 2035 under COP-29.

Which of the above statements is/are correct?

(a) 1only (b) 2only
(c) 3only (d 1,2,3and4
24. Consider the following countries:
1. Spain 2. France
3. USA 4. Sri Lanka

How many of the above mentioned countries are
included in the Mangrove Alliance for Climate

(MAC)?
(a) Only one (b) Only two
(c) Only three (d) All four

25. Consider the following statements regarding the
‘Global Atmosphere Watch’ (GAW):

1. Itis a collaborative program involving 100
countries.

2. Its objective is to enhance understanding of
interactions between the atmosphere, oceans
and the biosphere.

Which of the above statements is/are correct?
(a) 1only (b) 2only
(c) Both1and2 (d) Neither 1 nor 2

e HeT-45 F 45-A W 47/CC, afetmes 12, B9 TSR, T,
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26.

27.

28.

29.

30.

31

(Magazine Test)

frfafaa w® foer Fifsa-

1. A STEsiieEs (CO,)

2. #iegH (CH,)

3. e (H,0)
Swde § 9 fepat W9 e=E 19 (GHGs) ©?
(a) Had TH (b) oA T

(c) |t = (d) =g &l
forga Hie "M’ (WMO) & Geet o fefata
Fel W =R Hifsa-

1. WMO H3 Tz &1 faow et 2

2. 9Rd WMO 1 ¥5& 30 2l

3. WMO 1 geae™ URe, %ig o feeq 2
ST FA W W IR oA T Y
(a) ae 1 @R 2

(b) e 2 3R 3

(c) ad 1 3N 3

(@ 1,233
a9 2024 | SEfefaua g9 (CBD) % COP-16
1 e fefafed o 9 el fwar T 2
(a) TR, ¥l sra

(b) hedl, hicifaran

(c) ef¥NTeA, U,

(d) e, =
I S YSITd getieh e’ w1 SAee Tored
‘TAMIR fies SR’ WRd & fohd 9 °
srafeerd &2

(a) faarm (b) HAEH

(c) weEme™ (d) |
‘YU TS Gafid 8-

(a) TR SAYRT °

(b) 3THSH ST &% 9 | oA areft 34 9
(c) UEUNS i Wl F Fgren <7 & ford SEZ

(Special Economic Zone) g

(d) arHedia T @
freafafed worl W foar wifs:
hYA-1:
AU H -9l BT HH Tk Gt e @ o 2
hA-11:
FA-AA TS - Hohe F A H T T 2
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26.

27.

28.

29.

30.

31.

Consider the following:
1. Carbon dioxide (CO2)
2. Methane (CH4)
3. Water vapor (H20)
How many of the above are greenhouse gases
(GHGs)?
(a) Only one
(c) All three

(b) Only two
(d)
Consider the following statements about the “World
Meteorological Organization’ (WMO):

None

1. WMO is a specialized agency of the United
Nations.
2. India is a member of WMO.
The headquarter of WMO is located in Paris,
France.
Which of the above statements is/are correct?
(a) 1and?2 only
(b) 2 and 3 only
(¢) 1and3 only
(d) 1,2and3
Where was the COP-16 of the Convention on
Biological Diversity (CBD) held in 2024?
(a) Riyadh, Saudi Arabia
(b) Cali, Colombia
(c) Washington, USA
(d)
The habitat of the endangered primate species
‘Hoolock Gibbon,” ‘Hoollongapar Gibbon
Sanctuary,’ is located in which Indian state?

(b) Karnataka
(d) Assam

Nairobi, Kenya

(a) Mizoram

(¢) Meghalaya
‘Pineapple Express’ is associated with:

(a) Oceanic current

(b)

(c) ASpecial Economic Zone (SEZ) to promote

A train passing through the Amazon forest

pineapple farming
(d)

Consider the following statements:

Atmospheric river

Statement-I:
Groundwater scarcity is currently a major concern.
Statement-I1I:

The El Nino phenomenon is one of the factors
contributing to groundwater scarcity.

e HeT-45 F 45-A W 47/CC, afetmes 12, B9 TSR, T,
2ER-2, WA ek Ag, | IMehe wiw, faemrasm ofa¥ i
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32.

33.

34.

35.

(Magazine Test)

SudE weAl & Hew H, Frefeted § 9 siA-a

Td 772

(a) -1 3R HUA-11 < F&l € qe wer-11,

FHUA-1 1 A H B

FUA-1 AR weE-11 <4 wel €, fRq

HUA-11, -1 H1 AR &l Ll 2

(c) weA-1 Wl &, fopq wem-11 Tl & 2

(d) woA-1 T & 2, fohg w11 =t 2l

frAfafed ol | faar wifsa-

1. ¥RG ® Feyed TEEER &1 sfgar ad 1828
H oimer, Herrg H sed fafermm
T TAEA R Wis T eff

2. TSR & A e § SEAER SHaed I
e HuEeE e 2

ST HeHl § U HA-G/E HAA & B/R?

(a) ®ad 1 (b) Haa 2

(c) 1 ¥R 2 g (d FTd@1, T8 2

forrfefiem oM W ForeER FfE-

1. el g1 ® ge i stfrear gt 2l

2. WSS HTI oAl SATHIEES T e ¥ Wi
Bt 7

3. e ga § gEg & e

ST Fo F ¥ B e T

(a) Had 1 (b) o 2

(c) e 3 (@ 1,2 33

frefafea o @ foa fofa gr gii &1 3 7%

e i G SfRfRT § faed & ford ‘wfaa

SO S TolE i T w1 e femn?

(a) TSI 9 9RA T, (F9 2015)

(b) 3TEUN THES IMFETT I AR 9, (9
2011)

(c) forelt ofme =M 9Ra &=, (I9 2013)

(d) foemen smm TerEe™ W, (9 1997)

frefafeaa ol W faar wifa:

-1

T 91 1 3TN T &l H STaMeh T arett

e Tl

hYA-11:

g 9% W e SR e 9 gefad

TEM & q STAfF SR Y STeThlfelsh 5o

TR W M el gig % HRoT S 2

(b)
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32.

33.

34.

35.

Which of the following is correct in respect of the
above statements?

(a) Both Statement-I and Statement-II
are correct, and Statement-II explains
Statement-I.

(b) Both Statement-I and Statement-II are
correct, but Statement-II does not explain
Statement-I.

(c) Statement-I is correct, but Statement-II is

incorrect.
(d) Statement-I is incorrect, but Statement-II is
correct.
Consider the following statements:

1. InlIndia, dinosaur bones were first discovered
in 1828 in Aurangabad, Maharashtra, by
Captain William Henry Sleeman.

2. Adinosaur fossil park and museum is located
in Raiyoli village, Gujarat.

Which of the above statements is/are correct?
(b) 2only
(d) Neither 1 nor 2

Consider the following statements:

(a) 1only
(c) Both 1 and?2

1. Black soil is rich in humus.
2. Laterite soil is rich in iron oxide and potash.
3. Peat soil lacks humus.
Which of the above statements is/are correct?
(b) 2only
(d 1,2and3
Through which judgment did the Supreme Court

(a) 1only
(¢) 3only

direct the Ministry of Home Affairs to establish an
‘Organized Crime Investigation Agency’ to tackle
sex trafficking?

(a) Prajwala versus Union of India, (2015)
(b)

Aruna Ramchandra Shanbaug versus Union
of India, (2011)

(c) Lily Thomas versus Union of India, (2013)
(d) Vishaka versus State of Rajasthan, (1997)
Consider the following statements:
Statement-I:

Coastal flooding refers to sudden flooding in
coastal areas.

Statement-11:

Coastal flooding occurs due to short-term rises in
water levels caused by storm surges and extreme
tides influenced by local geography and topography.

e HeT-45 F 45-A W 47/CC, afetmes 12, B9 TSR, T,
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SudE weAl & Hew H, Frefeted § 9 siA-a
& 772

(a) HUA-1 3R HeA-11 1 Tl € qen w11,
FHUA-1 1 A H B
HA-1 AR weE-11 < @@l ¥, fog
FHUA-11, HeF-1 H1 A TEl Ll 2l
(c) weHA-1 Wl &, fopg wem-11 Tl & 2
(d) woA-1 Tt & 2, fohg w11 =t 2l
frafafea w foar w3

1. U gAfas @red wRiEH

2. T Bouesa

3. UMY HEEd
SEF H 9 fhad 9Ra W AMfae @R &t
TEn @ s 3 SRR BN SeR T e €7

(b)

36.

(a) el Th (b) Had
(c) |t = (d) e =
37. fr=fafed weAl ® fo=r wifsa:
hIT-1:

e ®d 9 a9 S9 it 9 © e
e, fargroent mfgemd, famn foreht Hifser wiisfis
% Hor et B

hYA-11:

afeenel & fAdiTeR 99 W TWEE HH,
TeH-Tr0T $iR e et et #)
Sufe werl & "ew o, Freteted § 9 siA-a
T 27

(a) -1 SR HeA-11 < e & qe HeF-11,
FHUA-1 1 A H B

FUA-1 R weE-1 S+ e €, farg
FHUA-11, FHA-1 HT A & Fl 2
(c) ®¥F-1 WE &, forq -1 W&t & 21
(d) weH-1 W & 2, forq HUA-11 Wl B
‘feg saufusr sfufrem, 1956 & Gad o
frfafad § 9 $HE-91 HeH ge Tl 82

(a) T TRl fog =afem w1 foamn oo & 9

(b)

38.

Bl I W Gufd o feraor 2 fafers et 21

(b) TIe srfufmm g, foe &Ik SF o w o
AN B 2

(c) THY Tufd & IMUHR TH HROT ST Th
T yoTet w1 e g @)

(d) o7 Afufe SHeifaa W off @@ @
g 2

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
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(Magazine Test)

Which of the following is correct in respect of the
above statements?

(a) Both Statement-I and Statement-II
are correct, and Statement-II explains
Statement-I.

(b) Both Statement-I and Statement-II are
correct, but Statement-II does not explain
Statement-I.

(c) Statement-I is correct, but Statement-II is

incorrect.
(d) Statement-I is incorrect, but Statement-II is
correct.
36. Consider the following:
1. National Mental Health Programme
2. Kiran Helpline

3. MANAS Mobile App
How many of the above are steps taken by the
government to address mental health issues in
India?
(a) Only one (b) Only two
(c) All three (d)
37. Consider the following statements:

None

Statement-1:

Unpaid work refers to activities in which
individuals, especially women, are engaged
without any monetary compensation.

Statement-I1:

Women’s unpaid labor includes caregiving, child-
rearing and domestic responsibilities.

Which of the following is correct in respect of the
above statements?

(a) Both Statement-I and Statement-II
are correct, and Statement-II explains
Statement-1I.

(b) Both Statement-I and Statement-II are
correct, but Statement-II does not explain
Statement-I.

(c) Statement-I is correct, but Statement-II is

incorrect.
Statement-I is incorrect, but Statement-II is
correct.
38. Which of the following statements is NOT correct
regarding the ‘Hindu Succession Act, 1956’7

(a) This is the legal framework for the
distribution of property if a Hindu person
dies without a will.
This act is also applicable to Buddhists,
Sikhs and Jains.
This determines a uniform system of
inheritance and transfer of property.

(d)

(b)
(©)
(d)

This act is also automatically applicable to
tribal communities.

47/CC, AT
3mehe Hier, fasmraen

T Ha-45 T 45-A TS
2TeR-2, B9 i T,
SEHERT I, FEIUX

12, 9 T, T,
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39. Freferfed gt T foar #ifwE-
HIT Wl TS T
1. | sfgr T A & T W
EECE o 7 & T@ W
s FHO &l H T W
TAPRS | TN, IEAT a1 S8 SR
% T W
Sude gl o 9 T wEl gafea 22
(a) Haa TH (b) waA |
(c) aad o (d) aft =ri
40. ‘¥ Hen' % g H freAfofed § 9 wF-w Tt
el faen 272
(a) H9 Tl 12 o § 6 IR @l 2l
(b) TEIERYT HeTl 144 I8 & a8 TRGR | FAMR
S 1
(c) TS # 9fd BT WIE H A wEH ¥ (A
FA' T S 2
(d) TGk g Ssoi | WA S o %A R
fogee 9 Hel S 2
41. ‘fawen ger' & ded ¥ frfafed sl ) foer
Hifer-
1. a9 1899 H foR@m He1 7 SR S
& o
2. a9 2000 ¥ foan He1 &t SEd R IREE
T i TATYAT T TE|
SudE HeAl § U HA-G/E HUA e B/R?

Eall ol

(a) Had 1 (b) Had 2

(c) 1 &R 2 g (d Fd 1,782
42. frefafaa w® foer Fifsa-

1. DAIGUA

2. PM-JANMAN
3. JUMHA ST SR AW A
S o A fohat SHoda faema i a9
Al IR 1 THE TE 22
(a) HIA TH (b) Haa Jq
(c) |t o= (d) = =&
43. ‘% % 3a’ & Hed § fefafed sweml ™
foam wifsa-
1. el o9 7 % U % e 39 w1 $YeR
q Hien e gal
2. 7% A =g Al TR i O A
% gude ol

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
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(Magazine Test)

39. Consider the following pairs:

Kumbh Mela Venue

1. | Haridwar On the banks of the Ganga
River

2. | Ujjain On the banks of the
kshipra River

3. | Nashik On the banks of the
Krishna River

4. | Prayagraj At the confluence of the
Ganga, Yamuna and the
invisible Saraswati

How many of the above pairs are correctly
matched?
(a) Only one (b) Only two
(c) Only three (d) All four
40. Which one of the following is the correct
description regarding ‘Kumbh Mela’?
(a) Kumbh Mela is held six times in 12 years.
(b) The Maha Kumbh Mela is celebrated in
Haridwar after 144 years.
(c) InPrayagraj, the Magh Kumbh is celebrated
every six months in the month of Magh.
(d) The Kumbh celebrated in Nashik and Ujjain
is referred to as Simhastha Kumbh.
41. Consider the following statements regarding ‘Birsa
Munda’:
1. BirsaMunda initiated the Ulgulan Movement
in 1899.
2. The state of Jharkhand was established in the
year 2000 on the birth anniversary of Birsa

Munda.
Which of the above statements is/are correct?
(a) 1only (b) 2only

(c) Both 1 and?2
42. Consider the following:
1. DAJGUA
2. PM-JANMAN
3. Pradhan Mantri Adi Adarsh Gram Yojana
How many of the above are major initiatives
supporting tribal development in India?
(b) Only two

(d) Neither 1 nor 2

(a) Only one

(c) All three (d) None
43. Consider the following statements regarding ‘Guru
Nanak Dev’:

1. Guru Nanak Dev had a direct encounter with
God near the Kali Bein River.

2. Guru Nanak Dev was a supporter of the
Saguna Bhakti movement.

e HeT-45 F 45-A W 47/CC, afetmes 12, B9 TSR, T,
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3. % 9Hh <9 1 Tk NAR W IR )
4. 7% A& 39 A Ffd I Fl WHEHR fHA

3. Guru Nanak Dev emphasized Ek Onkar.
4. Guru Nanak Dev accepted idol worship.

. . i i ?
S woA § @ TR P T Which of the above statements is/are correct?
(a) 1and3 only
(a) F 1 W3 (b) 2and3 only
(b) Fae 2 ¥R 3 (c) 3and 4 only
(c) o 3 AN 4 (d) 1and 4 only
(d) Fae] 1 3T 4 44. Consider the following information:
44. frfafed o W fo=r FifsE- Sikh Guru | Period Contribution
fa@ 1% arafir AN 1. | Guru 1504-1552 | Invented the
. Angad CE Gurmukhi
1. TR | 1504-1552 3. | e-HeE fafa
T g H@ﬁﬁ script
20 |T® T | 15341581 €. | oS 3 5. | GuruRam | 1534-1581 | Composed the
<M = Das CE Adi Granth
3. | 7% ST | 1563-1606 3. | STHAER @i
B TITIAT 3. | Guru 1563-1606 | Founded
4. | % TfER | 1666-1708 % | @rerEr ot = Arjun Dev CE Amritsar
i o 4. | Guru 1666—1708 | Established
- . - Gobind CE the Khalsa
SR T # ¥ o Il FET gAfer L Singh Panth
(a) el Th (b) A q In how many of the above rows is the given
(c) o dF (d) | =R information correctly matched?
45, 'SETEteTe eE’ % Hed o frefafed wmerl ™ (a) Only one (b) Only two
i Rl (c) Only three (d) All four
. e 45. Consider the following statements regarding
1. aﬁi 1928 ¥ SaTeelel 8% 7 sfeusd ®i Jawaharlal Nehra’:
sfean o i ¥ Eal 1. In 1928, Jawaharlal Nehru founded the
2. 99 1929 § HicTehral SIHAYE | Sameena Independence for India League.
T FT ST § BT F R 9 2. At the 1929 Calcutta session, under
oY Tﬁ A F ST |ed WA the presidency of Jawaharlal Nehru, the
- . Congress officially adopted complete
W _ ?
Forll § W FA-FE For T /e independence as its goal.
() Hed 1 Which of the above statements is/are correct?
(b) e 2 (a) 1only
(c) 1 ¥R 2 g (b) 2 only
@ Ad1,TH2 (¢) Both 1and2
16, Frefafad HoRt T -y (d) Neither 1 nor 2
46. Consider the following statements:
hdg-1: S I
. tatement I:
fiRfafean 9o T R 1 YT Aqegd off) o
The Girmitiya system was a form of bonded labor.
hA-11:

Statement I1:

India prohibited bonded labor through Article 23
of the Constitution and the Bonded Labour System
(Abolition) Act, 1976.

IR o WA & ATER-23 qA A HeIGY
Tt (Sge) A, 1976 & WEm ¥ Sy
Aol W gfaey o feam

641, wIW T, | 21, gET TS, 13/15, AT9ThE |, e HeT-45 F 45-A W 47/CC, afetmes 12, B9 TSR, T,
ociplcrel  wEst TR, | s e, | feee afe s, -2, A G qE, | ondE uie, fammms | ofaw et
faeeft-110000 | 7 foeett | fafaer omg=w, wmwst | agemn i@, sEOx T, e ¥, wer waw
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SudE weAl & Hew H, Frefeted § 9 siA-a
& 772
(a) -1 IR FHeA-11 I G € qe HeA-11,
FHUA-1 1 A H B
(b) FUA-1 3R HUA-11 A " ©, fopg
HUA-11, -1 1 AR &l Ll 2
(c) weHA-1 Wl &, fopg wem-11 Tl & 2
(d) woA-1 Tt & 2, fohg w11 =t 2l
47. FrAfafea w® foer Fifsa-
. 9Rd & ‘WEd' wewHH Al FIEYH &
o A= oy wiewE Y] T 2
2. ‘Efean Al fovm’ &1 SSRYA Had & &
o AL erwareti =1 faehmd e 2
3. ‘selfheH iR’ AR SR seEEt
FI gfera fefsieat Yamd wem w1 & ford
ST HT S R
Iwfe wel § 9 forad wem wEl 27272
(a) Haa TH (b) waA |
(c) Tt = (d) =g =&l
48. ‘TrEfoe 45’ & Uy H, frefafed wel W fomr
IS -
1. U ool W BHA 3R SHER WHITE
1 3T fRa S 2
2. 9% WHifaew @A &l W wH & o
difqger R TR-difgs e &1 gase
Ll 2
ST ol o © fRae weR @@ 22?2
(a) Had 1
(b) o 2
(c) 1 3R 2 T
(d Ad 1,72
49. 9qRd H Aered T % ded ¥ frefafea § 9
HHA-E/Y HUT GE 287
1. HIY-SMHRG Bl 9Ra § 99 B
2. G-I T 9 g S 2
3. WREGH IYAN & Sed dod | AHT 3T
o gfg & @ R
F= e MU H w1 T W IR g
(a) Had 1
(b) el 2 3R 3
(c) o 1 R 3
(@ 1,233

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
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(Magazine Test)

Which of the following is correct in respect of the

above statements?

(a) Both Statement I and Statement II are correct,
and Statement II explains Statement I.

(b) Both Statement I and Statement II are
correct, but Statement II does not explain
Statement I.

(c) Statement I is correct, but Statement II is
incorrect.

(d) Statement I is incorrect, but Statement II is
correct.

47. Consider the following statements:

1. India's ‘AIRAWAT’ platform provides a
general compute platform for Al research.

2. The objective of the ‘India Al Mission’ is
only to develop Al capabilities in the defense
sector.

3. ‘Blockchain technology’ is used to provide
secure digital services to citizens and
businesses.

How many of the above statements is/are correct?
(a) Only one (b)
(c) All three (d)

48. With reference to ‘Hybrid Warfare,” consider the
following statements:

Only two

None

1. Itinvolves the use of only cyberattacks and
disinformation strategies.
2. It combines physical and non-physical
means to achieve strategic objectives.
Which of the above statements is/are correct?
(a) 1only
(b) 2only
(c) Both1and2
(d) Neither 1 nor 2
49. In the context of online gaming in India, which of
the following statements is/are correct?
1. Skill-based games are legal in India.
2. Luck-based games are considered illegal.
3. Theincreasing use of smartphones is driving
growth in the gaming industry.
Choose the correct answer using the codes given
below:
(a) 1only
(b) 2 and 3 only
(c) 1and3 only

(d 1,2and3

e HeT-45 F 45-A W 47/CC, afetmes 12, B9 TSR, T,
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THET A, S o, e e, e waw

Phone: 8750187501 :: www.drishtilAS.com

Copyright — Drishti The Vision Foundation



(Magazine Test)

50. fr=fafed oAl | fomr St

HIA-1:
Y AR yiaael 9 = & ol adere e
Jead (VPN) @R fa Qe &1 3w & £
hIA-11:
IR Wrge™ 3R VPN &1 SUgN Sifers AfHT
F WER G & fawe ¥ ok wifuw gum
EEInIS
Iud el & Hey o, frefefed & @ wE-m
T 22
(a) -1 3R HUA-11 S T&T € qe weF-11,
HUA-1 T S H
(b) ®weF-1 AR HeA-1I < F& 2, frq
HUA-11, -1 H1 A &l Ll 2
(c) ®eHA-1 Wl €, forg weM-11 W&t & B
(d) weH-1 W & 2, forq -1 et 2

51. FreAfofad & 9 sH-91 ‘=g e’ & gl o

Tt e 22

(a) &€ UHI @Al ¢ TSR S oy o oo
% ford fopan S 21

(b) TE UH Wil ¢ TS SuE wH witen
AR et & fod fean s 2

(c) ¥E S g GeIferd Weh GUera @ 2

(d) TE e Al S=d @il B

52. frefataa @ | foar wifva-

ek @all TaauT
1. | fwfem ehedl JEETEe W HARie
SRR T T
2. | HeE foren tfewm = f@
A T AT B
3. | Sfen gefoam | safaamd 221 9k W= &
foa efen T =1 sy
Stdw gl ° 9 T @t gafea @2
(a) *ad ThH
(b) FaA A
(c) 9t =
(d) =g &l

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

50. Consider the following statements:
Statement-I:
Illegal operators use Virtual Private Networks
(VPNs) and mirror sites to evade restrictions.
Statement-II:
The use of mirror sites and VPNs makes online

gaming more vulnerable from a cybersecurity
perspective.

Which of the following is correct in respect of the
above statements?

(a) Both Statement-I and Statement-II
are correct, and Statement-II explains
Statement-1.

(b) Both Statement-I and Statement-II are
correct, but Statement-II does not explain
Statement-I.

(c) Statement-I is correct, but Statement-II is
incorrect.

(d) Statement-I is incorrect, but Statement-II is
correct.

51. Which of'the following correctly describes a ‘Mule
Account’?

(a) It is an account used for legitimate money
transfers.

(b) TItis an account used for money laundering
and fraud.

(c) Itis a secure account operated by a bank.

(d) TItis only a personal savings account.

52. Consider the following pairs:

Cyber Description
Threat
1. | Phishing Collecting sensitive
information on fake
websites
7. | Malware Demanding payment for
system encryption
3. | Dating Using dating apps to
Hoodwinks access personal data

How many of the above pairs are correctly
matched?

(a) Only one
(b) Only two
(c) All three

(d) None
e HeT-45 F 45-A W 47/CC, afetmes 12, B9 TSR, T,
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53. IR WER WY FHSA Hx (14C) & A
IR % ded o frefafaa & @ wH-T1 FHeH
Tdt T 72
(a) WER AWY & fod T Aea 65 & &u
o &1 w1

(b) HIA TRN HEAMI hi FIEaR FRaq YHfvea
AT

(c) TEeR 3TYUY & TR § ST & sie STHTEehd]
I HE

(d) HrEeR BRI AR St & T awan fmior
o gerEd HE

54. ‘Sege Haue R, 2024" & wee #, fr=fafea
FUl R fa=R FifeE-

1. a2 RUR Sgaa T qaietv &fswA (UNEP)
T S 1 St B

2. 39 R & o1ER a¥ 2022 ¥ 9RA &1 ufd
=fe GHG Se&siA =1 9 1T 21

S Ul W W wH-E/A HE 22
(a) Had 1 (b) o 2
(c) 1 &R 2 g (d Fd@1, 782

55. ‘oifvees &= U RO, 2024 & Hesl o, Fretetad
Ferl R =R Hifsa-
1. 7% fur fava w@red |81 (WHO) g1
EECIRS Gl
2. 79 U & orguR afves R R & A
® 55% HHel Aigensti § 9 T F)

ST weHl § U wA-G/E TE 2?2
(a) ®ad 1 (b) o 2
(c) 1 ¥R 2 g (d F@1, 82

56. ‘QS 9eg gfafdd emm: ufern 2025 & ged
¥, freafafea woAl W foer st
1. ¥E RO Fmeerel arHed (QS) 5/ <R
T T B
2. 39 fOR & oq9r 3 50 § 9Ra & 4
e e 2l
ITE wuAl § 9 BA-E/A FE 2R
(a) Had 1
(b) Had 2
(c) 1 &R 2 g
(d Fa1, T8 2

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

(Magazine Test)

53. With reference to the primary objectives of the
Indian Cyber Crime Coordination Centre (14C),
which of the following statements is NOT correct?

(a) Acting as a nodal point for cybercrime.

(b) To ensure cybersecurity of only government
institutions.

(c) Generating awareness among the public
about cybercrime.

(d) Assisting in capacity building for cyber
forensics and investigations.

54. In the context of the ‘Emissions Gap Report, 2024,
consider the following statements:

1. Thisreport is released by the United Nations

Environment Programme (UNEP).

2. According to this report, India’s per capita
GHG emissions in year 2022 were higher
than China.

Which of the above statements is/are correct?
(b) 2only
(d) Neither 1 nor 2

(a) 1only
(c) Both1and?2
55. Inthe context of the ‘Global Tuberculosis Report,
2024, consider the following statements:
1. This report is released by the World Health
Organization (WHO).
2. According to this report, 55% of global TB
cases have been found in women.
Which of the above statements is/are correct?
(a) 1only (b) 2only
(c) Both1and2 (d) Neither 1 nor 2
56. In the context of the ‘QS World University
Rankings: Asia 2025,” consider the following
statements:
1. This report is released by Quacquarelli
Symonds (QS).
2. According to this report, four Indian
institutions are included in the top 50.
Which of the above statements is/are correct?
(a) 1only
(b) 2only
(c) Both1and2
(d) Neither 1 nor 2
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57. frfafes o @ fogs gu ‘sRwE v U,
2024" W w1 T @2
(a) fava w@mes @e (WHO)
(b) TIF T TAGRY HRIHA (UNEP)
(c) FTA.-Bfee (UN-HABITAT)
(d) T T2 TR arct STITdehTel= i
(UNICEF)
58. ‘T Ve IF T dgoed faeed U, 2024' & §eH
Y, frafafea suA ® fomar sifsa-
1. 78 foid g9 U dadw™ 9
SATATdeRTE 9 (UNICEF) R ST &t
Eiciy
2. 3@ TR & oER afYes R W AasE
forgrel o Sfifad @A 1 R 98% W 31tk B
ITH wuAl § § BHA-E/A HE 2R
(a) ®ad 1 (b) o 2
(c) 1 &R 2 g (d Fd1, 782

59. fr=fafEa ol w® fommr wifsE:

A1
g0~ 2fede (UN-HABITAT) 51 ‘oe€ fadi=
R 2024: foda U Fmede TRM' S &l
T T
hg-11:
Il & | ag 1 Sifey urHr e g 3.5 T
AAferes 21
Sud werl & Hew o, fFrefafead § @ wE-w
Td 72
(a) HoF-1 3R HUA-11 SF Fel & qe wer-11,
FHUA-1 I A Hl 2
FoF-1 SR weF-1I <A we €, fag
FHUA-11, HEF-1 H1 @A T2 Hl 2
(c) ®¥F-1 WE &, forq ®eA-11 W&l & 2
(d) HoA-1 & & B, fohq Hea-11 @& 2
60. fader, 2024 ¥ fafy @ = @@ g Tfed
239 faf¥ s &1 s fhad o ®1 2

(b)

(a) 3 ad (b) 4 Td
(c) 5 ad (d 6 Td
61. fr=fafea W fo=m wifTa-
1. sfrifuen 2. WA
3. fax 4. FH]I WA
641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawet-110000 | T oot | fafaer ogew, wamwst

(Magazine Test)

57. Which organization released the ‘Adaptation Gap
Report, 2024°?

(a) World Health Organization (WHO)

(b) United Nations Environment Programme
(UNEP)
UN-Habitat
United Nations International Children's
Emergency Fund (UNICEF)

In the context of “The State of the World’s Children
Report, 2024,” consider the following statements:

(©)
(d)

58.

1. Thisreportis released by the United Nations
International Children's Emergency Fund
(UNICEF).

2. According to this report, the global survival
rate of newborns is over 98%.

Which of the above statements is/are correct?
(b) 2only
(d) Neither 1 nor 2

Consider the following statements:

(a) 1only
(c) Both 1 and?2
59.
Statement-I:

The ‘World Cities Report 2024: Cities and Climate
Action’ was released by UN-Habitat.

Statement-11:

Flood risk in urban areas is 3.5 times higher than
in rural areas.

Which of the following is correct in respect of the
above statements?

(a) Both Statement-I and Statement-II
are correct, and Statement-II explains
Statement-1.

(b) Both Statement-I and Statement-II are
correct, but Statement-II does not explain
Statement-1.

(c) Statement-I is correct, but Statement-II is

incorrect.
(d) Statement-I is incorrect, but Statement-II is
correct.

60. What is the tenure of the 23rd Law Commission
formed by the Ministry of Law and Justice in

September, 2024?

(a) 3years (b) 4 years
(c) 5Syears (d) 6 years
61. Consider the following:
1. Ethiopia 2. Iran
3. Egypt 4. Saudi Arabia
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S9gE ¥ 9 fohad <M I SHed, 2024 H fomw
(BRICS) @4 ® el fepan e 272

(a) *dd ThH (b) @aad
(c) hael o (d) @ =
62. Frefafead gaa w foem wifsa-
Wd & ™ Taeror
giferan =rfela
E )
1. | I fga FIeH | HRS! hI TH T8
Jfd i @
2. | arctife oW | foeR |39 wimA e
frord =HF H W
3. | ol wi | ewE || e @ g
T dfed freera
e
ST g § 9 fehat el @€t gafer &2
(a) HaA TH (b) HadA
(c) @t (d) g T&¥
63. Tr=fafed ga | fa=ar FifsE-
fava =& ) Taaror
gifetan
wrfela e
1. |9 fad Tifepent | ™ weT
‘Feifa@r’ i
ECIS]
2. | =% demE =W | = Tegafa gr
i FITME H
IS
3. | SistersH TAFT | WRA-ehiehm R
T o ST
4. | THA | T 5N EERER
e ¢ st
T gHeT
ST g § 9 ferat el @t gafer 82
(a) *ad Th (b) a7
(c) ael dH (d) Tt =m
641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
faweft-110000 | € foeett | fafae wmgww, wammwrs

(Magazine Test)

How many of the above countries were included
in the BRICS organization in January, 20247

(a) Only one (b) Only two
(c) Only three (d) All four
62. Consider the following information:

Recently State Details
Discussed
Locations
in India
1. | Banar Hill | Karnataka | Discovery of a
new species of
spider
2. | Valmiki Bihar Discovery of a
Tiger rare Common
Reserve Cat Snake
3. | Dharanikota | Gujarat Discovery of
a fragmented
inscription
related to
Buddhism

In how many of the above rows is the given
information correctly matched?

(a) Only one (b) Only two
(c) All three (d) None
63. Consider the following information:

Recently | Country Details
Discussed

Global
Locations

1. | Maya City Mexico | Discovery of
the lost city of
'Valeriana'

2. | Chank Port | China Inauguration
of Chank Port
by the Chinese
President

3. | Georgetown | Guyana | Hosting of
the India-
CARICOM
Summit

4. | Dnipro Ukraine | Russia’s attack
using the
hypersonic
missile
'Orashonic'

In how many of the above rows is the given
information correctly matched?

(b) Only two

(d) All four

(a) Only one
(c) Only three

e HeT-45 F 45-A W 47/CC, afetmes 12, B9 TSR, T,
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64. ‘Tafaer T=ym faen mesa TeieyH’ & Hee

¥, frAfafea wa ) o= Fifse-

1. 39 9RA & WETISEes AR SEOET ST
g faepfia foen o 2

2. 9% UWAhIE S T g o Usihiol i
Jfsha sl geAATEd |

STH wUAl § 9 BHA-E/A FE 2R

(a) ®ad 1 (b) Haa 2

(c) 1 3R 2 T (d Fd1, 782

‘Hrr-faeraedt aem’ & g o, frefafea

FeMl R fomr wifsa-

1. I8 I U foenm AAfa, 2020 #
STET 2l

2. THH 3¥F BN I HURER-HH TE
TR-Jo U1 ISH FE T

65.

ST wUA W HE-wA wE 2e?
(a) Had 1
(b) Had 2
(c) 1 3R 2 i
(d Fd 1,782
66. Tr=fafag X faem Hifsa-
1. HIHTAR 2. faum
3. s 4. IZATH

SEE H § fhad e oom ¥ e wWrw aw
‘el Rives e’ i €2
(a) oA Th (b) e T
(c) aa o (d) asft =arf

67. TR Foeuhii U9 FRRI H wHF | H
el fien M9E At guEEs favawa
IS A YR H TE efi?
(a) ad 2020 H (b) =¥ 2021 &
(c) ad 2022 ® (d) =9 2023 &

68. ‘®RT] WU Hewqul S’ (D-SIBs) & T
¥, frfafea wa | o= Fifse-
1. D-SIBs &l =q HAefemaeen # ‘g fomr g

wa’ (TooBigtoFail)ﬂﬂTTrl'lT‘lT%l
2. D-SIBs & e 4 # wifit HDFC S
g st Sifgn 1 gfafafue # 2

IrfE weAl § 9 HA-E/A TE 22
(a) ®ad 1
(b) Had 2
(c) 1 3R 2 T
(d I 1,782

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

(Magazine Test)

64. With reference to the 'Civil Registration System
Mobile Application,' consider the following
statements:

1. It has been developed by the Registrar
General and Census Commissioner of India.

2. This application will streamline the process
of birth and death registration.
Which of the above statements is/are correct?
(a) 1only (b) 2only
(c) Both1and2 (d) Neither 1 nor 2

With reference to the 'PM-Vidya Lakshmi Scheme,'
consider the following statements:

65.

1. This scheme is in alignment with the
National Education Policy, 2020.

2. Its objective is to provide collateral-free and
guarantor-free loans to students.
Which of the above statements is/are correct?
(a) 1only
(b) 2only
(c) Both 1 and?2
(d) Neither 1 nor 2

66. Consider the following:
1. Kokrajhar 2. Chirang
3. Baksa 4. Udalguri

How many of the above districts are included in
the autonomous ‘Bodoland Territorial Region’ in
Assam?

(a) Only one (b) Only two

(c) Only three (d) All four
When was the 'Pradhan Mantri Vishwakarma
Yojana, which plays an important role in supporting

67.

traditional artisans and craftsmen, launched?
(a) Inthe year 2020 (b) In the year 2021
(c) Intheyear2022 (d) Inthe year2023
With reference to 'Domestic Systemically

Important Banks' (D-SIBs), consider the following
statements:

68.

1. D-SIBs are considered ‘Too Big to Fail’ in
the domestic economy.
2. HDFC Bank, included in Bucket 4 of
D-SIBs, represents the highest risk.
Which of the above statements is/are correct?
(a) 1only
(b) 2only
(c) Both1and2
(d) Neither 1 nor 2
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69. Frfaftaa i | foar wifva-

HET & YT feerur

1. | Sf Tfudfaae 9o o 3
B

2. | fewmrm gfaeen wiferdtsn &
fafda =

3. | ufeeuar mrE@m | sAfey woan § e
IS 1 B

4. | |t a5t 3R wieufmt =
W FHash! H S B

Sude gl W o e wel gafaa ©2

(a) Fod TH (b) Faa T

(c) haa o (d) aft =arf

70. 99 2024 H frfafes # 9 ffg =W ® 9/a
% TEd TEEghHER fese BRIC-HYRA
wit-the aEi=hET sheege’ i STEneA fahan

7
(@ 9 (b) T
(c) R d) wETI

71. =L W TR U & arel ‘SE (JUNO) fae!
frafafea & @ fg 3o o wenf fean T 22

(a) FTET (b) wE
(c) =+ (d) =T
72. ‘fomrde’ gafud 2-

(a) Tova & wed wwel % U9 o wefia
fva T swE 9

(b) T BRI P T IRl HR H AT FH
# ford geifua fFa S sTUR =)

(c) LT wE wWyd | Ry ot o
fARIEEE 1 TF FE A STHRTT §

(d) SUH gR &% TRl & AHEd & fod 9
S 9Tt SWE 9

73. ‘T o wA' & Gl H frAfafed § @

HF-| HeF T T 22

(a) A & A fova & w9 98 wadl § 9 TH
IS ITEH | st | faa

(b) & A 10 HIE U ek 1 BT B

(c) T8 A Tk 9 H I R Faemr 2

(d) I8 T TS TL WH &I Y HI Ahd
Tl B

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

(Magazine Test)

69. Consider the following pairs:

Type of Cancer Description

1. | Carcinoma Originates in epithelial

cells

2. | Lymphoma Originates in immune

cells

3. | Multiple Myeloma | Cancer of plasma cells
in bone marrow

4. | Sarcoma Originates in bones
and muscles or tissues

like fat

How many of the above pairs are correctly
matched?

(a) Only one
(c) Only three

(b) Only two
(d) All four
70. Where will India's first Bio-Manufacturing

Institute, 'BRIC-National Agri-Food Bio-
Manufacturing Institute,' be inaugurated in 2024?

(a) Pune
(b) Mohali
(c) Indore
(d) Coimbatore
71. The 'JUNO Mission," which collects data on

neutrinos, is located in which of the following
countries?

(a) USA
(b) France
(c¢) China
(d) Canada
72. 'LignoSat' is related to:
(a) The world’s first satellite with wooden
panels launched into space.

(b) A satellite launched by NASA to study the
Sun’s outer core.

(c) Aninstrument studying lymphocytes on the
International Space Station.
(d) A satellite launched by Japan to study
asteroids.
73. Which of the following statements about the 'Titan
Arum Flower' is NOT correct?

(a) Recently, the Titan Arum, one of the world’s
largest flowers, bloomed in Australia.

(b) This flower grows over 10 feet tall.
(c) It blooms twice in a decade.

(d) It mimics the smell of decaying flesh.
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74, ‘AR¥e wERE samamE!’ & ged H, frefatad
Fel R =R Hifsa-
1. I AR % TR g9 W e )
2. IE Uit i 3ffh PR %1 TH W 2|
STE wUAl ¥ 9 BH-E/A HE 2R
(a) ®ad 1
(b) Had 2
(c) 1 3R 2 T
(d Id@1, T2
75. ‘=g SMenta’ & Wed H, frafafed wedl
foam wifsa-
1. I8 S GeaTHE €9 9 e wt vad
B S 2
2. 9% SEd AT YRS & 12 faviw ®9 @
FHATR S Fel (PVTGs) ® 9 T 21
ST wuA § W HE-wA wE 2e?
(a) Had 1 (b) Had 2
(c) 1 3R 2 i (@ F@1, 82
76. 99 2024 W 9RA ® GEHA HACH TS AL
g ftgE gr Frafafed o 9 fFg wom o gem
TREE Sg R g9er 1 A fFE T
(a) SeETE (b) T oot
(c) HITR (d) aRT™
77. Trfafed | faar wita-
1. g&= wgfg Frem
2. WHHHA W FEAT A
3. FUFHES Sseael Al
4. AATA AT ATAT-TSETA UTHOT

arstiferst faem
STE ¥ 9 Rt A gaa-Sg@ Fed ©2
(a) el TH (b) e
(c) aa o (d) asft =ri
78. frfataa g | foar wifa-
TS AT ury fafyr
1. |3fea dem A a9 2016
2. | dum SH-¥F A ad 2014
3. | deH s At wEER A | ad 2020
4. |dum gan s A a9 2015
Sude gl o 9 e wEl gafaa ®2
(a) el TH (b) o
(c) aad o (d) asft =rf
641, W @A, | 21, g A, | 13/15, rereRg W,
fawet-110000 | T oot | fafaer ogew, wamwst

(Magazine Test)

74. With reference to the '"Mount Lewotobi Volcano,'
consider the following statements:
1. Ttislocated on the Flores Island in Malaysia.
2. Itis part of the Pacific Ring of Fire.
Which of the above statements is/are correct?
(a) 1only
(b) 2 only
(c) Both 1 and?2
(d) Neither 1 nor 2
75. With reference to the 'Chenchu Tribe,' consider the
following statements:
1. This tribe is the numerically smallest in
Odisha.
2. This tribe is among the 12 Particularly
Vulnerable Tribal Groups (PVTGs) of

Andhra Pradesh.
Which of the above statements is/are correct?
(a) 1only (b) 2only
(c) Both1and2 (d) Neither 1 nor 2

76. In 2024, where was the First Asian Buddhist
Summit, organized by the Ministry of Culture and
the International Buddhist Confederation, held?

(a) Bodh Gaya (b) New Delhi
(¢) Kushinagar (d) Sarnath
77. Consider the following:
1. Sukanya Samriddhi Yojana
2. Pradhan Mantri Matru Vandana Yojana
3. Pradhan Mantri Ujjwala Yojana
4. Deendayal Antyodaya Yojana-National
Rural Livelihood Mission
How many of the above schemes are gender
equality-oriented?
(a) Only one (b) Only two
(c) Only three (d) All four
78. Consider the following pairs:

Key Schemes Launch Year
. | Atal Pension Yojana 2016
2. | PM Jan-Dhan Yojana 2014
3. | PM Shram Yogi Maandhan | 2020
Yojana
4. | PM Suraksha Bima Yojana | 2015

How many of the above pairs are correctly
matched?

(a) Only one
(c) Only three

(b) Only two
(d) All four
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THET A, S o, e e, e waw

Phone: 8750187501 :: www.drishtilAS.com

Copyright — Drishti The Vision Foundation



79.

80.

81.

82.

(Magazine Test)

‘g7 wWRed & AHl’ & Hsd H, fefared
Ferl W =R Hifsa-
1. I8 dee a9 2017 H YRS &t TE eff
2. 39 AN & Tod AHIU W & G TR
TANTSTEeT T & fod Fiv-safr
1 Wi & s 2l
ST wUA W HE-wA wE 2e?
(a) HaA 1 (b) Had 2
(c) 1 3R 2 T (d Fd 1,782
‘s’ & g o, fafafea wua w famm
HifSrI-
1. 3oHe T YHR H STohEd 2l
2. U & Wy e sonta-fafsm e s e
1 UlehaT 1 T HAHLO Hel Sl 2l

ST Ul W W B T 22
(a) e 1 (b) e 2
(c) 1 3R 2 i (@ Fd@1, 82

‘ST R - WHMHA S ST A (AB-

PMJAY) & §sd o, frefafad swemi | fo=r

HIfSA-

1. 39 ASMT & d'd 70 99 A1 399 efus
I % Tl afts i un )

2. It AMies st w@rkes < eq W ot
PM-JAY &9 U< X Fehd 2|

U Ul W W B HE 22

(a) ®ad 1 (b) I 2

(c) 1 3R 2 i (@ FT@1, 82

frAfafaa wa ) fo=m Fifse:

CER K

HuH-£gH (PM-KUSUM) FsiT 5% § 9 Sl

1w <t B

HIA-11:

HH-%gH (PM-KUSUM) Sl 1 3299 GR

T de GRehd HTU et wfid T B

SwE el & Hew o, frefafea § 4 s

Td 772

(a) HUA-1 3R HeA-11 A Tl € qen w11,
FHUA-1 F] A F B

(b) ®weF-1 AR HeA-1I < F& 2, frq

FUA-11, FUT-1 H AT T&] FLl o
(c) weHA-1 Wl €, foprg wem-11 Tt =&l 21
(d)

HoF-1 Tt T 7, fRg FUA-11 T R

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

79.

80.

81.

82.

With reference to the 'Soil Health Card Scheme,'
consider the following statements:

1. This scheme was launched in 2017.

2. Under this scheme, agri-entrepreneurs are
encouraged to establish village level soil
testing laboratories.

Which of the above statements is/are correct?
(b) 2 only
(d) Neither 1 nor 2

With reference to 'Ethanol,' consider the following

(a) 1only
(c) Both 1 and?2

statements:

1. Ethanol is a type of alcohol.

2. The process of blending ethanol with petrol
to create ethanol-blended fuel is called
ethanol blending.

Which of the above statements is/are correct?

(a) 1only (b) 2only

(c) Both 1 and?2 (d) Neither 1 nor 2
With reference to the 'Ayushman Bharat - Pradhan
Mantri Jan Arogya Yojana (AB-PMJAY),' consider
the following statements:

1. Under this scheme, all senior citizens aged
70 years or older are eligible.

2. Senior citizens with private health insurance
can still avail PM-JAY benefits.

Which of the above statements is/are correct?

(a) 1only (b) 2only

(c) Both1and2 (d) Neither 1 nor 2
Consider the following statements:
Statement I:
The PM-KUSUM scheme promotes the use of solar
energy in agriculture.
Statement II:

The objective of PM-KUSUM is to establish solar
pumps and solar-powered agricultural feeders.
Which of the following is correct in respect of the
above statements?

(a) Both Statement I and II are correct, and

Statement II explains Statement 1.

(b) Both Statement I and II are correct, but

Statement II does not explain Statement I.

(c) Statement I is correct, but Statement II is

incorrect.
(d) Statement I is incorrect, but Statement II is
correct.
e HeT-45 F 45-A W 47/CC, afetmes 12, B9 TSR, T,
2TeR-2, B9 2k T, 3mehe Hier, fasmraen fer g3l,
THET A, S o, e e, e waw
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83. frefafad weml W faar wifvE-
1. WRA 1 HIYAT H1 Gid TR B Al 2
2. ARAE GfaH & gEde’ 3 Syl S
% ‘qE’ H gd w9 WRE A R
3. 9RdIE HiFeH S gEdeE’ g 2l
ST wuA W HE-wA wE 2R?
(a) e 1 3R 2
(b) et 2 3R 3
(c) o 1 R 3
d 1, 2 3
84. ffafad g W fo=r Hifa-
<9 aRde wiaer § e wraes
I |9 wET | T i ae
2. | | Swsufa w1 T’
3. | eeRels |9 & Hfa-feees e
4. | siefean | GO & <A Gl 1 I ook
e e e o
(a) *ad ThH (b) e T
(c) aad o (d) aft =ri
85. fr=fafaa wemi W faar wifsa-
1. fafues oafem, S- wot, fom enfs o
AR 7AW )
2. R FATRERAT T SEid Tl afeeh a9
amenfia 21
STE wuAl § 9 BHA-E/A 1 2R
(a) o 1 (b) Had 2
(c) 1 3R 2 T (d Fd1, 782
86. Tr=fafEa weml W fo=m wifsa-
1. q=8%-13 —amEufa®wl &1 ‘=arfas
AR’ T Wl YSH Ha 2l
2. ITESR-14 # ‘Hgfifes = w1 fagia’ o
fafea 2
3. STR-14 ¥ YgE ‘=af’ U= &% ded
IRd & T & § T arel TR-AR den
fafues =afaa =t off fafy & @ wwa &

MR 9 2
ST wmeAl § W HE-T/A T 2R?
(a) ®acd 1 IR 2 (b) el 2 3R 3
(c) ®aed 1 33 (d) 1, 2 33
641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
Eusiplceell T T, | w e, | e abe
faweft-110000 | € foeett | fafae wmgww, wammwrs

(Magazine Test)

83. Consider the following statements:
1. The sovereignty of India lies with its people.

2. The "Preamble' of the Indian Constitution
embodies the 'philosophy' of the entire
Constitution.

3. The 'Preamble’ of the Indian Constitution is
enforceable.
Which of the above statements is/are correct?

(a) 1and2only

(b) 2and 3 only

(¢) 1and3 only

(d 1,2and3

84. Consider the following pairs:

Country | Provision Borrowed in the
Indian Constitution
. | USA Post of Governor
2. | Canada | Post of Vice President
Ireland Directive Principles of State
Policy
4. | Australia | Joint Sitting of Both Houses of
Parliament

How many of the above pairs are correctly
matched?

(a) Only one (b) Only two
(c) Only three (d) All four
85. Consider the following statements:

1. Legal persons, such as companies,
corporations etc. are also considered citizens.

2. Indian citizenship is not based on territory
but on descent.
Which of the above statements is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1only
(c) Both1and2
86. Consider the following statements:

1. Article 13 empowers the judiciary with
'Judicial Review.'

2. Article 14 also incorporates the 'Principle of
Natural Justice.'

3. The term 'person' under Article 14 includes
non-citizens and legal persons residing in
Indian territory, granting them the right to
equality before the law.

Which of the above statements is/are correct?
(a) 1and?2 only (b) 2 and 3 only

(¢) 1and3 only (d 1,2and3
e HeT-45 F 45-A W 47/CC, afefmes 12, B9 TSR, T,
2ER-2, WA ek Ag, | IMehe wiw, faemrasm ofa¥ i
TERT R, AT e, TS &R, WA wRw
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87. Trfafad sl W fo=m Hifs@-
1. STT=9%-21 9RAE AN & @e-|eg
oo w ot @ry =
2. ITER-27 X T o1 194 el B, Yooh

T T AL |
STH wUAl § 9 BH-E/A 1 2R
(a) ®ad 1 (b) Haa 2
(c) 1 3R 2 T (d Fd1, 782

88. Frefafad wedl W foar wifsE-
1. T=Ia8 <EeE qd SAfYsRl & sTemEn
G A AR & gedd & fod o

fiz S X g 2
2. %9 AEE had ol AYER % Yok
% fordl fe o & wepan 21
ST wUA W HE-wA wE 2e?
(a) Had 1 (b) Had 2
(c) 1 3R 2 i (@ T, 82
89. Fr=fafed gmi W fo=m Fifsa-
O wigem PICBIE]
W AW
1. | 3Tg=8=-39(¥) gaF @ & fad
A A
2. | STTBR-42 T FERIA S ST
HET
3. | eg=ER-47 AR g A TR
% Yo & gfauy a1
FA AT
4. | STT=ST-48( ) 9 9 ISl i &l
HT AG HAT
Sude g o o e wEl gafaa ©2
(a) HaA TH (b) waA I
(c) Haa @ (d) =t =wf

90. fr=fafed werl W fomm wifsa-
1. @i fgg wfafa =+t fawfer & smem
R 449 Gfaym Gelem g d@fag™ &
q-4 (F) | G FaeA dAa: wofa w7
T
2. 449 dfgum wenya g dfaum =
T=R-51 (F)H 11 a0 wdeA Siig

ST wel § U -G8 TE 2?2
(a) ®ad 1 (b) oA 2
(c) 1 ¥R 2 g (d FT@1, 82

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

(Magazine Test)

87. Consider the following statements:

1. Article 21 applies to both Indian citizens and
foreigners.
2. Article 27 prohibits the imposition of the tax
but not the imposition of duty.
Which of the above statements is/are correct?
(a) 1only (b) 2 only
(c) Both1and2 (d) Neither 1 nor 2
88. Consider the following statements:

1. The Supreme Court can issue writs for the
enforcement of fundamental rights as well
as ordinary legal rights.

2. High Courts can only issue writs for the
enforcement of fundamental rights.
Which of the above statements is/are correct?
(a) 1only (b) 2only
(c) Both1and2 (d) Neither 1 nor 2

89. Consider the following pairs:

Article of
the Indian
Constitution

. | Article 39(d)
2. | Article 42

Provision

Equal pay for equal work

Provision for maternity
relief

3. | Article 47 Endeavor to prohibit
the consumption of
intoxicating drinks and

drugs

4. | Article 48(A) Endeavor to protect

forests and wildlife

How many of the above pairs are correctly
matched?
(a) Only one (b) Only two
(c) Only three (d) All four
90. Consider the following statements:

1. Fundamental Duties were incorporated into
Part IV (a) of the Constitution through the
44th Constitutional Amendment based on
the recommendations of the Swaran Singh
Committee.

2. Eleven Fundamental Duties were added to
Article 51A of the Constitution through the
44th Constitutional Amendment.

Which of the above statements is/are correct?

(a) 1only (b) 2only

(c) Both1and2 (d) Neither 1 nor 2
e HeT-45 F 45-A W 47/CC, afefmes 12, B9 TSR, T,
2ER-2, WA ek Ag, | IMehe wiw, faemrasm ofa¥ i
THET A, S o, e e, e waw
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91. fr=fafed g W fo=m FifsE-

Teufd & dter Terawor
1. |dfee 4 Tegafd g fages ™
ST FEAl A1 STHEH
w7 T S
2. | et dter | weeufa g/ fasee @i
I I e @
INRIESIEI
3. | eTicfaes dfer | wgufa g fagEe @i
HHg & YAGER ?q
Y S S
Sude gl § ° fepad wet gafea 82
(a) HIA TH (b) Haa Jq
(c) |t = (d) = =l

92. ‘Iezufd i &HIRH &1 ek’ & Fd o, Frafafaa
Fel W =R Hifsa-
1. ‘oo’ § G %l W Sl asd fed
S B
2. ‘ufER’ & W w1 Wehfd 9<a < Sl @)
STH wUAl § 9 BHA-E/A 1 22
(a) Had 1 (b) o 2
(c) 1 3R 2 T (d Fd1, 782
93. YR Wfaym & fFe om=st § Smreufd gr
Tzaf o el o fded 1 gaue fran e 82
(a) STToR-64 (b) ATHT-69
(c) FFAI=R-70 (d) AT=BR-71
94, ‘Hfymesa’ & wed #, fr=fafed werl W fo=m
HifSr-
1. THH wad sfae W wihe e 2l
2. dfaur & gt 9 9 € gush 9ol firer ?)

ST Ferl H W BE-HA R e
(a) o | (b) ®aa 2
(c) 1 3R 2 T (d Fd1, 782

95. Frfafea o 9 frg Sfaum w9iem grn ae feifa
fpn T o MO @ we W B He,
RIS H A T F 15% 9 Afyw & @
Hehdl?

(a) 86al Gfaum Heneq arfufwm, 2002
(b) 913 Hfaum gwner stfuftaw, 2003
(c) 42t dfaum Heieq eifuf=m, 1976
(d) 44at Hfaum gwened eifuf=m, 1978

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

(Magazine Test)

91. Consider the following pairs:

Veto of the
President

1. | Pocket Veto

Description

President neither gives
assent nor rejects the
bill.

President keeps the bill
reserved.

2. | Suspensive Veto

3. | Absolute Veto President returns the

bill to Parliament for

reconsideration.

How many of the above pairs are correctly
matched?
(a) Only one (b) Only two
(c) All three (d)
92. With reference to the 'Pardoning Power of the

None

President,' consider the following statements:
1. In'commute,' the amount of punishment is
changed.
2. In 'remit,' the nature of punishment is
changed.
Which of the above statements is/are correct?
(a) 1only (b) 2only
(c) Both1and2 (d) Neither 1 nor 2
93. Which article of the Indian Constitution provides

for the discharge of the duties of the president by
the Vice President?

(a) Article 64 (b) Article 69
(c) Article 70 (d) Article 71
94. With reference to the ‘Cabinet’ consider the
following statements:
1. It includes only Cabinet Ministers.
2. Its description is found in the original parts
of the Constitution.
Which of the above statements is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1only
(c) Both 1 and?2
95. By which Constitutional Amendment was it
specified that the total number of Ministers in the
Council of Ministers cannot exceed 15% of the
total strength of the Lok Sabha?

(a) 86th Constitutional Amendment Act, 2002
(b) 91st Constitutional Amendment Act, 2003

(c) 42nd Constitutional Amendment Act, 1976
(d) 44th Constitutional Amendment Act, 1978

e HeT-45 F 45-A W 47/CC, afefmes 12, B9 TSR, T,
2ER-2, WA ek Ag, | IMehe wiw, faemrasm ofa¥ i
THET A, S o, e e, e waw
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96. ‘wETfoaa’ (Advocate General) & §eH #
frefafed & 9 -9 U F@l @l 82
(a) YRAE Hfau™ & STIeEs-155 & STAR
T gRI Hetfyes i i i
St 21
(b) T H Harew fafy eifusidt, derfeeem
g 2
(c) WRITHerRT, ToadTel & JEIEW 1 Ll 2
(d) weIEE, =0 <A &1 AR gH
T a1 T 2
97. ‘=icifeey gonet’ & Gy d fefafad wul w
fomm wifsE-
1. Hform § <@ w1 e 7 g}
2. 3HS TG IR % HEA A T T
aftsqn = e B @)
ST wel § U wA-G/d TE 2?2
(a) Had 1
(b) ®ad 2
(c) 1 &R 2 i
(d Ad1,7d2
98. RAE HioHM % fohd STTo8] & dod S=d <™
1 e =ETerd & <l ww 8?2
(a) STT=3-213 (b) SAT=R-214
(c) T=R-215 (d) ST=8%-216
99. Fr=fafead weml W fo=m Hifsa-
. O% & < @A & ueg foedt off feafa 9 6
e | 3fusk w1 Saa A& B el
2. UM AREA % A U, S AE Alhdsl
?q Feifea =& e I ‘oiF <o’ e 2l
ST wUA W HE-wA wE 2?2
(a) Had 1
(b) Had 2
(c) 1 3R 2 T
(d Fd 1,782
100. forg dfgum Holem & weaw ¥ o =ss-352 H
‘oTidfen STeNT’ YeRTAC Sl TRt 3T TAM W
‘e fage’ e fen
429t wfaem weee eifufem,
445 dfgum ey erfufTem,
52aT Wigum wenem sifufam,
6191 Gfaum geiem stfuftam,

1976
1978
1985
1988

(a)
(b)
(©)
(d)

13/15, AT9ThE |,
Torere ufiremt =ik,
Tafaer @g=w, wamm

21, UET T,
e &,
& feeett

641, TAW A,

usipicel T T,
faeeit-110009

(Magazine Test)

96. With reference to the 'Advocate General,' which
of the following statements is NOT correct?

(a) AsperAtrticle 155 of the Indian Constitution,
the Advocate General is appointed by the
Governor.

(b) The Advocate General is the highest law

officer in the state.
(c) The Advocate General serves during the
pleasure of the Governor.
(d) The Advocate General must be qualified to
be a judge of the High Court.
97. With reference to the 'Collegium System,' consider
the following statements:
1. The Collegium consists of seven members.
2. Under this, the Chief Justice of India and
other seniro most Judges are included.
Which of the above statements is/are correct?
(a) 1only
(b) 2only
(c) Both1and2
(d) Neither 1 nor 2
Under which Article of the Indian Constitution
does the High Court derive the status of a Court
of Record?
(a) Article 213

(c) Article 215

98.

(b) Article 214
(d) Article 216

99. Consider the following statements:

1. The interval between two sessions of
Parliament cannot exceed six months under
any circumstances.

2. Members of the current Lok Sabha who
are not re-elected to the new Lok Sabha are
called 'Lame Ducks.'

Which of the above statements is/are correct?
(a) 1only
(b) 2only
(c) Both 1 and?2
(d) Neither 1 nor 2

100. Through which Constitutional Amendment was

the term 'internal disturbance' replaced with 'armed
rebellion' in Article 3527

(a) 42nd Constitutional Amendment Act, 1976
(b) 44th Constitutional Amendment Act, 1978
(c) 52nd Constitutional Amendment Act, 1985
(d) 61st Constitutional Amendment Act, 1988

e HeT-45 F 45-A W 47/CC, afetmes 12, B9 TSR, T,
2ER-2, WA ek Ag, | IMehe wiw, faemrasm ofa¥ i
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